Divide by 8

48+2=__
48+ 4=__
48 -8=___

What do you notice about the answers to
these questions?

Can you predict what 48 <+ 16 would be?

Which numbers can be divided by 8

without a remainder?
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Amir shares 24 sweets equally between
8 friends.

How many do they get each?

Which bar model would you use to
represent this problem? Why?
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Divide by 8

Reasoning and Problem Solving

48+ 2=___ The answers
(quotients) halve

A8+4=__ and the divisors

8-8= double.

What do you notice about the answers to
these questions?

Can you predict what 48 + 16 would be? | 3

Which numbers can be divided by 8 64,32,800,200
without a remainder?

“) () =
5 = [

Amir shares 24 sweets equally between
8 friends.

How many do they get each?

Which bar model would you use to
represent this problem? Why?

24
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Although both can
represent

24 + 8 =3 the
first bar model fits
this word problem
best, because 24
has been split into
8 parts, 1 part
shows 1 friend.



